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CLASS IX ( TERM-I ) EXAMINATION, 2022
{ Paper - iII )

" fa T / SOCIAL SCIENCE

( MCQ Type )
WY : | geT 30 fame T!ﬁa? : 40

Time - 1 Hr. 30 Min. Full Marks 40

AWTa 3% / GENERAL INSTRUCTIONS :
1. FEuE e a9t faerer OMR 3Wt O @ Y

Carefully fill up the necessary particulars on the OMR Answer Sheet.
2. 319 39T YU EEAER OMR IR GF | I T e W HT |

Put your full signature on the OMR Answer Sheet in the space Iprovided.
3. @ WA e § $ 40 sg-fameda we

There are 40 Multiple Choice Questions in this Question Booklet.

4. uvft 997 sfqard § lmmaﬁaﬁm1mﬁ%rﬂaﬁﬁ?$7‘mmm
hIZT ST |

All questions are compulsory. Each question carries 1 mark. No marks will
be deducted for wrong answer,
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(1)

(3)

1774 (2) 1715

1789 (4) 1794

SOC

In which year, was the unit of currency 'Libre' in France discontinued ?

(1)

(3)

1774 2) 1715

1789 4) 1794

> W WER w1 Y gig & e e w46 @ W ot 2

(1)

(2)

(3)

(4

T3 A E FA F GHH & o
I F TI-TFF F U
05 AR AYT THR FEAEE & TAR & foll

T 9 94l

Why was the French government forced to increase taxes ?

(1)

To pay off the increasing debt

(2)  For the maintcnance of the army
(3)  To run the court and government offices
(4) All of these
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3. W H G A e 90 Wi H el & ?
(1) foam (2) Tl
(3) =T | (@) IR
Who made up about 90% of the entire population of France ?
(1) Farmer (2) Priest
(3) Advocate (4) Rich
4. 1748 % ‘T Raftz o 3w A WA TR @ o 2
(1) ; & (2) T
(3) H=RH (4) o
Who wrote "The Sprit of the Laws" in 1748 ?
(1) Rousseau (2) Marx
(3) Montesquieu (4) Mirabeau
5. W 1791 H Wi H A Chsedl A Wlaw w1 www @@ W o @ s g
YT FT o ?
(1) H&R FI wiwal s dfha s
(2) TASH F HWER HI B ST
@) / ot T TR % AR T T e a1
(4) 94 |
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6.

when the National Assembly of France completed the draft of the

constitution in 1791, what was its main objective ?
(1)  Limiting the powers of the Emperor

(2)  Taking away the right to vote

(3) Abolish the manifesto of men and civil rights

(4)  All of these

w39 4 S W W Ie SHfad T & i) A gari

iz i |
(1)  &&st en (2) I Wl
(3) A e (4)  TA wen

The abolition of which practice in the France colonies was one of the

revolutionary social reforms of the Jacobin regime ?

(1) Dowry system (2) Slavery

(3)  Caste system (4)  Tradition of Sati
R A o e e 9 fored e e # R w w sk e
et 2

(1) 3EREw @), EQIES AR
(3)  FEEE (4)  UAE
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Who among the following wanted a nation in Europe in which all religionsr

get equal respect and place ?
(1)  Liberal (2)  Revolutionary
(3)  Socialist (4)  Nationalist
5. P d R e foww o 6 gy B (olard v § 0 R & FAe moid
uE 3reda fe feeet o1 TETS S9ET R 2

(1) el dieg (2) T aad
(3) et AT (4) Ao AR

Who among the following believed that in order to free themselves from

capitalist exploitation, the workers would have to form a very different
kind of society ?

(1)  Friedrich Engels (2) Robert Owen

(3)  Karl Marx (4)  Napoleon Bonaparte

9. Tets, wnafer, feeganfar, weifar qum ddie % 3o R fra ammg & o o 5
(1)  shiear 2) e
(3) o (4) , &

f

. : . : L
Finland, Latvia, Lithuania, Estonia and parts of Poland were part of
which empire ?

(I}  French (2) Ttaly

() Germany (4)  Russian
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10. T % et | e At e 3 1898 1 fed gt @ e e e 2
(1), WO} HidHR] Tl () e g Sakies T o

(3) & it (4) 7 Q@ B TE

Which party was formed in 1898 by the socialists who believed in Marx's

ideas ?

(1) Socialist Revolutionary Party

(2)  Russian Social Democratic Workers' Party
(3) Labour Party

(4) None of these
1. 1914 § 2 ZRE TeaHl & e g% fog T ww @R § s, snfear AR gl 9
At g W R 2w A )

(1) wa s awa (2) hE, U 9 A

(@) i, dieie @ gemite (4) W, WiZeee 7 naete

In 1914 war broke out between the two European alliances. Germany,
Austria and Turkey were in one camp, then which countries were in the

other camp ?

(1) France, Britain and Russia
(2) France, Greece and Denmark
(3) France, Holland and Bulgana

(4) France, Switzerland and Iceland
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12.
T | BT Al 8 2
fegr - e
(1) IR W - fireTigR (2)
(3) @R@UE - Il (4) TE - TEHET
East longitude line which is considered as the standard meridian of India
passes through which state and city of India ?
(1)  Uttar Pradesh-Mirzapur (2) Bihar-Patna
(3}  Jharkhand-Ranchi ' (4) Gujarat-Gandhinagar
13, fve A it Se oo gt oferEn de RN SR el & 2
(1)  Ewiiesh Teramr (2) SR TR
(3) , T€% WERITR (4)  FTHicH TETETR
Which sea joins European countries and East Asian countries in the
west ?
(1) Atlantic Ocean (2)  Pacific Ocean
(3) Indian Ocean 4) Arctic Qcean
14. YR F of #t e TR-ufyas o forg 3o & A =& § o
(1) W wa s (2)/ A9 T e
| (B)  HWR e iy 4) g T e
595 5006 soc
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with which countries does India have land porders in the North-West ?

(1)  Pakistan and Afghanistan (2) Nc;ﬁal'-and Bhutan

(3) Myanmar and Bangladesh (4)  Pakistan and China

5. Wqﬁﬁq%aﬁa@ﬁﬁmﬁéﬁmﬁﬁmw@mm%?

16.

17.

(1) - Tevmae femrera (2) I feHerE
(3) TS e (4)  =ureT fermeTs

By what name is the part of the Himalayas lying between the Sutlej and
the Indus known ?
(1) Himachal Himalaya (2) Punjab Himalaya

(3) Kumaon Himalayva (4) Nepal Himalaya

qzeTe, Anm, et @ wfrqr fr & @ fofes A € 2

(1) et 2) W

(3) el - ) e

Patkai, Naga, Mizo and Manipur are the names of which of the following ?
(1) Castes (2) Cities

(3)  Shales (4) Hills

WA T I HLA SN Tollg gaT F w1 & IFH tier e Afedt % gro gan & 0
(1) fay, geep 3R faw (2) Toyg =mm @k Sem

(3), Téy, 7 SR SR (4) Ty, vt e S
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The Northern plain of India which is made up of alluvial soil was form:?d’
by which rivers ? |
(1) Indus, Sutlej and Tista
(2) Indus, Beas and Jhelum
(3) Indus, Ganga and Brahmaputra
(4)  Indus, Ravi and Chenab
18.  fo Froll 4 R # 30 deF P @ gfe § waifus Icaee &F AT A § 0
(1) |9F T8 HER (2) R TET FH ITCTRAT
@) e STy @), T @ e w
For what reasons is the northern plain of India considered the most
productive region from the point of view of agriculture ?
(1) Rich soil cover (2) Abundant water availability
(3)  Favourable climate (4) For all these reasons
19.  ‘AEEER’ e fee dw w e g o
() wra 2) fo=
@) @
In which country is the '‘Mansarovar Lake' located ?
(1)  India - (2)  Tibet
(3) Nepal (4)  Bhutan
999-9006,/111] soc
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A, T, T, e e e T et MR § e & o e
i forer e 3
(1) fomr= o jﬂ\l/ﬁ“i

[

(31 P (4) FEA

The Sutley, the Beas, the Ravi, the Chenab and the Jhelum join together

to enter in which river ncar Mithankolt in Pakistan ?

(1)  Kishan Ganga (2) Indus
(3) Kurram (4) Kabul
J1 FYHN T UF UiGg AE AT AT N ?
(1) e (2) T
(3) "W (4) hv—m"l/
A
What is the name ol a famous lake of Kashmir Valley ?
(n Dal (2) Wular
(3) Sambhar (4) Chilka
22 HA & O G AN g 6 2
(1) & faed 3c0EA & o deTs wiel 2
(2)/ 38 U & & & Serarg S WHHE GG 8
(3) A gerar a Tz & =g @
(4)  zH F gl
999-9006/111 socC
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What are the benefits of the formation of lakes ?

(1)  Helps in gencrating hydroelectricity

(2)  Normalizes the climate of the surrounding areas
(3)  Enhances natural beauty and tourism

(4) All of these

Frg § @ v &1 & QW w9 A 3 Frad wrael @1 g9 @ & € 2

23.
(1) / wwes (2) TTET &
N/
(3) AT @ 4) T FE T
Which of the following is a form of government in which the rulers are
elected by the people ?
(I}  Democracy (2)  Monarchy
(3)  Despositism (4)  None of these
24, aﬁzoozﬁqﬁv&rﬁaﬁ%ﬂm%m?ﬁmmm'%aﬁqaﬁw
Hfevm &t S5 gen Ty 2
(1) 6% st T (2) % arg
(3)  EHA qEE (4) T g
In the year 2002, which president of Pakistan changed the constitution of
Pakistan through the "Legal Framework Ordert
(1) Asif Ali Zardari (2)  Rafique Tarar
(31 Pervez Musharraf () Wasim Sajjad
[999-9006/mm1| 80C
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(1) FEEAT 3T @esar & e ¢

0] FWH FTECR grEe O S 6

3 T SR T wrl e S 8

(4)  TEH SER [0 ofF &l CaEd) a8

Which of the following is an argument given against democracy ?
(1) Promotcr of equality and liberty

(2) There is an unresponsive government

(3) Popular and permanent rule s found in this

(4) [t has the potential to make better decision

26 eimed o fee TR % G O (et e SHE Fee ol Bl & 2
(1)  [=me ga (2)  Hifear
(3) ARG &l : (@) T @ @

Whose role is more important in the solution of a problem in a

democracy ?

(1) Opposition party (2) Mcedia
(3) Ruling party (4) All of these
1999-9006 /111 sOC
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o 7 g e A e 1 e T E9

(1 e gy 9 Mo s & Aren @ wred e

[z} S G O I R gy det o o

(3) walysR & AueEr & @ @ S AT

(4) TH IR

The most common form of democratic governance in today's world is

(1)  Governance through representatives elected by the people

(2)  Taking decisions related to governance by gathering at one place by

the people
(3)  Taking away the right to vote from the people

(4]  All of these

Wﬁmﬁﬁmaﬁaﬂ%mwﬁaﬁzsaﬁwmw:wﬁﬂ

7 g o fem a1
(1!;/ ot #g (2)  IEHg
(3) WTTI#T (4) ﬂﬁ:{g’}q

Nelson Mandela had spend 28 years in South Africa’s most horrific

Prison. On which island was that prison located ?

(1) Marion Island (2} Dyer Island

(2) Malpas [y]:
Upas Islane (4) Robben Island

S0C
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so 3T IR ¥ tmT & e W WA § 9UY oW iy @gd o at =R &
AER A At et F w aeeE O e o

i&j)/ WE-9Tg A1 A F AE & o

(2) USAT® T w o0 sfaey Ia7 forar
(3) AR e w g W e
(4) FH I od

When people's struggle and protest against apartheid started increasing
in South Africa, what changes did the government start in its policies ?

(1) Discrimination laws were withdrawn
(2) The ban on political parties was lifted
(3) Nelson Mandela was freed

(4) All of these
30, oNEAES e A/ 290 9 fedat e FEd 7T A & 2
(1) T (@) / wfaur
(3) g« (4) HARA
What is considered necessary in countries with democratic governance ?

(1) King (2)  Constitution

(3) War (4)  Drought
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31.  HNA 39 I FRE YR K U Fear Hi faviifve el <t
(1) e @ i
(3) e (4) o
On what basis has India faced the threat of partition ?
(1)  Religion (2) Caste
(3) Language (4) Land
32, WfqyE vE Y G R HA & 2
(1) @ & & TR 9O SR HeA famiad e &
(2) TN & JRERT w77 w2
(3) THIS & TS & fAU ST Bt SHRSN B o5 L &
(4) T ¥ @
What is the main function of the constitution ?
(1) Develops the necessary trust and Co-operation between people
(2)  Sets limits on the powers of the government
(3)  Expresses the aspirations of the people for the formation of society
(4)  All of these
1999-9006 /111] soc
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33. AR & Frehzem w3 e s Am )
(1) / T Q) TR

S (4) AR

What is the name of the nearest big village to Palampur ?
(1) Raiganj (2) Shahpur
(3Y Rampur (4) Bharatpur

34,  ofy OO H A FTHIE FE 2

(1) fepeimer (2) {2

(3) ) TRE (4) (e
What is the standard unit of measurement of land ?
(1)  Kilometre {2) Centimetre
(3) Hectare (4) Millimetre

35. e ¥ T T IR g ity FE 2

(1) @ @) R
(3) T e (4) T IR

"99.9006 111 50C |
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What is the major production activity in the vﬂage of Indi
(1)  Agriculture (2) Irrigation
(3) Fisheries (4) Milk production
36. F{q]aﬁﬂmﬁ 1 rqﬁ‘aﬁ..a_cﬁa M, el forg wap &1 Tl & 2
(1) / -5 framd (2) | fRant
/
(3) Wegw femamt (4) T fopamd
Small manufacturing, transportation, shopping, dairy are what type of
activities ?
(1) Non-farm activities (2) Common activities
(3)  Auxiliary activitics (4)  Joint activities
37. e fomre 3 3fe § i waffer meagt @ o
(1)  WiFas Fgarm (g}/ Al it
3) e o @) oA @
Which is most important from the point of view of economic
development ?
(I} Natural resources (2)  Human capital
(3)  Physical capital (4)  None of these
[999-9006/m1] S0C
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3. Bt # ¥ FR-Q R T B ?

(1) | (2) @ & WA

(3) W fwfor (4) wA @

Which of the following factors increase the quality of population ?

(1)  Literacy rate (2) People’s health

(3) Skill building (4)  All of these

39. Ufefas AR wiwphie sl ¥ qftar | gt R qedl & s e e

g w1 & 2
(1), A= (2) ¥m
3) 3H (4) =

What remains divided between women and men in the family for

historical and cultural reasons ?
(1) Land (2) Income

(3) Labour (4)  Property

'999.0006 /111 | soc
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40. o8 yer # FHEN Sfeaed © A B © 7

(1) FreR 3R ™ (2) WER AR @

(3) / e Ftor (4) T H HE T
Which type of population is a burden on the economy ?

(1) Illliterate and unhealthy (2) Literate and healthy
(3)  Skill building (4) None of these

e
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